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SECTION — A : MATHEMATICS (e3¢ Fv’gén)
"\“’

The sum of first *»° natural numbers is 1§:§
BosS N e éo:psa B N ag‘\‘d
(1) Z n(n (2( ann[n;ﬂ
(3) Er.‘:n(]:n) (4) z”_ n+H“

How many two-digit numbers are divisible by 3 ?

3 3 erAoSA Botose Jopgen R ?

(h 30 (2) 35 (3) 40 (4 45
3 The slope of the line which makes }Irr angle with the positive direction of x-axis is
J Y-0go8 e B3 9&’5 S0 Do B e Jod ?

(1) -1 (22 0 3 1 4) 2
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ﬁ I'he pair of equations x=0 and v=5 has
. (2) Infinitely many solutions

(1) Unique solution
(4) No solution

X %) Two solutions
v=0 bak x=50d ShEdare wd SOA Aol A e3den
(2) wdodRDd e ehven EOA dodron

(1) JB8 Jesd $OA dotrow
(4) xnbotd esden SOA S0

(3) Both e SON dodran

5  The sum of roots of a quadratic equation 3x2 -7x+11=0 i

_ 37 - Tx11=0 85 sty Sk dree Hoghy

! 3
M 3 @ -5 4 3 @ -3

6 The roots of a quadratic equation x* -3x-10=0 are
. 22 —3x—10=0 38 $DEoewtn Gogy wreres

.. : 3@(1) —5; 2 . (2) 5. 2 %_'2, 5 (4/; = -5

ween the points (2, 3) and (4, 1) 1s
) Bochye ey drdi o8 ?

@ 3 @ 342 U@ 2z

88 D50 4 Bt 9 D HesEn 20 ©ond 15 D S0 Jos ?
) 32 (3) 18 (4) 36

f a quadratic equation ax® +bx+c=0, a#0 is

=0, a#0 5 sd8dmy Sk Hireb)
@ 2 3) 3 @ 4
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It «.pB are the roots of ¢ rati
< a quadre : B ati 2
q dllL Lllldllﬂl] ax” + h_‘- + 0= “‘ ol # “ lht.!ll (f? 13 I‘}" =

oAby +e=0, az0 58
( § PG @ngy dareren o, [ en wows, o +p? =

| 5
—\a?® +2bc) I
(1) p2 t“ s (2’5 h_l(”2 '—?..bt')
1 (,.2 d ,
(3) ‘?(h +2ac) (4) —I;-(_h'“ ~2ac)
a a“
The sum of 10 terms of AP. : 2, 7, 12, ..ccoviv, is
2, 15 12 v ©o¥RABS™ 10 Hore Tdin Jod ?
(1) 340 (2f 345 (3) 240 (4) 245

If a quadratic equation 2x% + kx+3=0 have two equal roots then k=

2% +kx+3=0 e Heb B Gy Mreren HIrRwBS k =
) +642 2) +243 (3) 246 4) +342

If the H.C.F. of any two numbers is equal to ‘1’ then those numbers are called as

() Coprime numbers (2) Prime numbers

(3) Irrational numbers (4) Rational numbers

Bodh dopge ey K2, 'l @owd, ¥ Bodd QODGOR e ®otrd.

(1) 5528 (e Dopgen (2) B dopgen
(3) soedas Somgen (4) wsssdon donger

The number 'Tt' is a

(1) Natural number (2) Rational number

4) Irrational number

(34 Integer

"' 0d8 el

(1) e sowg (2) w8sedan dowg
(3) g sowg (4) sdcdos dowg

SPACE FOR ROUGH WORK / 9 08 Berovosadd ot

:
@collegedumas
India’s largest Student Review Platform

9



15 If 4={a.b.c.d} then number of subsets of 4 are

{={a.b.c. d} ®and, 4% Ko asdde Ddowg
(¥ 8 ) 12 (3) 16 (4) 20

16  The zero's of a quadratic polynomial 4y° +8y are
47 +8) 35 s Qg Arrgen
(1) 0.4 () 0,2 (}{0,8 4) 0,2

17 The base of common logarithm is
SoXBErTre [Frirsds eorso

(1) 2 ) 5 (3) 10 s 1

"

18 J;*-JE is an irrational number, where p, g are
(M _Ewn numbers | (2) Prime numbers
i1 numbers ~ (4) None

(2) B Somgen
(4) 28 s

5x+§y=7, 9x-10y =12, represents the following

(2) No solution
1y solutions M One solution

x—10y =12 Bar Sosture a8, (808 oD SrdosH.

(2) 08
(4) 988 65
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he pair of equations =
I'he | q 3x+4y =k and 9x+12y =6 has infinitely many solutions if k =

st dy=k ©8
3+ 4) B Dxh125= 6 sy iiene wis. OIS Msden KON doard b k =

3 .'
(1) (2) 2 /(3) 6 @ 5

The value of 10*3]250'250 is
102,250 1250 BoEy dend

el (2) 1 3) 2 4) 3

Which of the following is true ?
8od TS DO Nego ?

(1) ¢=0 (2) n(¢)=0 3) ¢={0} (4) n(6")=0

If the given lines 2x+ky =1 and 3x—5 y=7 are parallel, then the value of k is

2x+ky=1 8o 3x—5y=7 e Saross Bpen wowd, k dewd

(1) -7 of 2 () -13 @ -3

| If in the equation x+3y=10, the value of y is ‘4’, then the value of x will be

x+3y=10 ﬁédmoé‘f}j} @) Deid ‘4’ wond, X Dend
()2 o @) 2 | @) 4 @) 5

If the equation ax®—-8x+4=0 has equal roots then a=

axz—8x+4'=0médmo&nég.wwww@*'“'m:’ A
(1) 2 - e e

CE FQR ROUGH WORK / D N8 Beronotedd Qub'm
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£ dl it hl (‘i
26 I a By * 7+ then the lines are 3
F : . 2 (A
(1) Unique solution (2) Coincident (1
(3) Infinitely many solutions (4) No solutions
a by ¢ F
a “E¢: ®ond, & Bpen
1 2
(1) I8 > $0n dotraw (2) d8gsrow 2
(3) ©BoSHH JeHen KA dotran (4) ded B
(

27 If sum and product of zero's of a Quadratic polynomial are 1. 1 respectively, then “5'5

corresponding quadratic polynomial is 5 :
D0 D8 2
&8 B dd A&y Brarge Iwdgo Db Erarge w0 soare 1,1 @awd, & X o
; :
(1) x%—x+1 2) x2+x+1 (3) x2+x-2 n x —z+2

#

28 If sin(A—B)=% and cos(A+B)=% then £4,/B="7

sin(4-B)== 8ot cos(A+B)—% wond, LA, /B=2?

(1) 45°, 15° - (2) 15°, 45° (B 45°, 30° (4) 30°, 15°

adow of a vertical pole is /3 times its original length. The angle

' black balls and ‘6’ red balls. If one ball is drawn at random, H
-ttmg red ball is :

) ‘6’ Ny woden 50@ 2.8 22089 o.ﬁ'qﬁaﬁaéon“ BB ©8 iy

1
s 3) 5 ). =
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TICKREL

‘ wl

\\\\ \ ‘_.‘,}l.\l\."?
WeBITE 598513 \ ﬁ
/a2 -

DAl

B mode = 29, mean = 32 then median =
rIVEED = 29, ¥en = 32 wand, Desgrso =

(1) 29.5 - TR
( (2) 30 (3) 30.5 4) 31

Find length of a kite string flying at 100 m above the ground with the elevation 60°.
| o8 mO800 W08 100 D deres 206t Aowwn)e, @A I oo 8 60° Swin
L S8, o5 REDH ok ?

6, -5, 3. 0. 5 8ot 11 o Hessrso
S () ) -6 013 e

- Average of 11 numbers is 10.5; If one of the number 9 is deleted, then the average of
" the remaining numbers is

| 1lsowge $070 10.5. 28 somg 9 % Feofods, DADS Somge B0

= (1) 10.1 (2) 10.5 (3) 95 (4) 10.65

Identify the correct statement -

by r-0 & p@ei o 0) 0=EE)=1 e

| &5 (800 Tre3S° HOToH (SR -

(1) p(E)=-1 (2) P(E)=1 (3) 0<P(E)<1 (4) 28 s
When two dice are rolled the probability of getting same odd number on two dice is’
Dot 3 D¥es Hndne Both 0¥e e el B vowg oPoh Sorridg®

1
(1) @ 15 0{) ® 1
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39

40

1o If the
inected by @ wire.
h of the wire 15

4) 10 m
. o oot 88 o

Ihe tops of two poles are of height 20 m and 14 m arc col
wire makes an angle 30° with the horizontal, then the fengt
() 11 m (2) 12 m ) 13 m
20 . 280 14 . e Ko Both Yozre §°6D) & h& SO
Sheodn DV, ¥ B°h BoEy Py Sod ?

(1) 11 . (2): 12 . (3) 135,

& Bpd 30°

4) 10 .

. 3 then height |
s 5 : ; . Gaor L ic 024 m the
I'he curved surface area of a cylinder is 264 m? and its volume is 9

of the cylinder is :

(1) 3m (2) 8 m (3) 6 m (4) 4 m
B8 i GluEy HESe Frogino 264 3., ¢ e DI sodrman 924 D.
%Y

(I3 3% 2) 8 b (3) 6 . - (4) 4 .

If sin@=cosB (0<0<90°) then tan6=

sin® = cosB (0< 0<90°) wowd, tanb=___ :
(=1 @) 4 (3) 2 “4) 1

] 1

If tan(4—B)=—=, cosd== then £ B=
TP

ﬁﬂﬁA#-é- ®od, L B=

tan(4-B)=
i (5%

-

- M cosecol (4) seco

:
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Calculate the length of ¢
& angent ‘ : : . _ . :
of radius i ot & [from a point 15 ¢m away from the centre of a circle

(1) 11 em (2) 9 ¢m 12 ¢cm (4) 10 em

20.4D. aﬂé@“dmm 0 2)8rI8, oo ot wod 15 2.5, Ershns® .l Hothd) Sedh. wond,
DOQR) Wod B)Erd8 Aawad )88 P ah% K9 B0 2

() 11 ol (2) 9 2o.b. (3) 12 20 (4) 10 20..

In the right angle A 4ABC, B =90° tan C=% then the length of hypotenuse is

5
2.8 008 |Behao A ABC. & £ B=90°, tan C =15 ©owd, © [Bebe S5 PG Jod?
2

(1) 16 @) 13 3) 21 & 17
If 4=45° B=60°, then sin 4 + cos B
4=45°. B=60° ®any, sin 4 + cos B 2end ood ?
2-2 2 2+42 2+2
¢ (2) +J_ S AT

]

Which vessel shown in the below figure can hold more water ?

LT
NeEoEaaE e )
I em | 4 cm :
o v Not decided
(3) same in A and B o
Bots st O i, Mogd DesD 88 dvod (fech ?
o -
| 20.9. 4 200.2. e
(1) A e Y dgow 05BN

(3) A S8oxy Be® s OSFBEY . |

FOR ROUGH WQRK | Dd BB ﬁ@gnot:saa&a o)
i)

d _
Y @collegedumas
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee

SPACE




I

STATE BOARD oF TECHNICAL Frow e 8, Tn J\_z'

e -

46 If the radius of a sphere is '2r' then the volume will be

Aiesin Qugy ogrdin 27! wand, o°d b H08rEEn
s i 32 B
(1) 2nr @) 4ns 3) s’ Rl

47  The radii of two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5:3
then the ratio of their volumes are

Bodh grare Tgrore A8 2 1 3 oo Tv¢ dhe A8 5 1 3 wowd, 78 DI oD RS
(1) 20:27 (2) 40:50 (3) 20:30 (4) 50 :30

48  The radius of the sphere is increased by 100% then the volume of the resultant sphere-}
is increased by
& ﬁm oty gEin 100% oD, 6yt Fekhn By D H0Ern Jod DO ?
() 200% (2) 700% (3) 500% (4) 900%

49  The centroid of a triangle is (4, 1) and two vertices are (2, 3) and (7, 6) then the third

vertex is
&8 (Bghes Hehee Bocsin (4, 1) HBaxw o»d Bodb Fgrew (2, 3) B (7, 6) wans, Srds 860 :

M 3G.6) @) (-3, 6) (3) (-3.-6) 4) (3.-6)

' ~A 4ABC then z+y=

Zt+y=

¢

9++3 3) 7538 ) 4+343
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B |1 the below Dgure
: e OB=13g ..
YIS OP w12¢m and op L AB then the value of AB is

|8ty LA Lty on

s OF =12 %oby. w8t OF | AB wond, AB dend

W P .

e
. -

(
v { %

§ o b
(1) 5 em(%0.80.) ,é) 100 em(%0.%,.) (3) 10 em(o.dy)  (4) 75 ecm(o.bv)

A circle touches the sides of a Quadrilateral ABCD at points P, Q. R and § then which
of the following is true 2

v Ly ABCD B6GNerd) P, (), R %805 S Hothiye 56 &8, (800 TIS° O Mg} b >

P U
R ' | LV‘\}"L
D P ™ @) o~ ' 2
" =
S “‘Q : ",\\5 et
AN :
/4 < - '\/7:?/" =
/ B ; :
= XA
-" . : \ XA
(f) AB+CD = AD+ BC (2) AB+CD>AD+BC . u/
: - 3
(3) AB+CD < AD+ BC (4) AB+BC=AD+DC W “./g_‘),l

L

-

The angle between the tangent and radius drawn through the point of contact is

88 9)6) Dotksigy ¢ rgrgeOB, )6 0w g o ooit0
(1) 1000 (;/)T 70° () P08 (4) 80°

SPACE FOR ROUGH WORK / 2& 8 Seravosadd Yo
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54 If the point P(x, y) divides the line segment joining the points A% 1)

internally in the ratio m :m, then P(x,y)=
:J:‘;J{'zé& L e f ;

A(x. ;) ®o0% B(Jfg.yz) Dodoiyed D6k By womd) «B

desosy Doy P(x, y) @wey dreven

mXy — X MYy =myy; | (myxy +myx) MYy F ) |
() ( m=my ' m-m, | (2) m—my, '~ M=y ) “
f

03) [ N Ry o [MasmA, Moz |
L el - i it - R 59 |

55 The mid-point of the line segment joining the points (2, 7) and (12, =7) 1S
@, 7_% Dooto (:% ~7) Bocsigest Disyh Barpodis G, iy Dot Harimren ?
(D 7, 0) @ @, 0 (0, -7) (4) (0. 7)

LP=60°, £0=75 then LA=

ZQ= 75° wond, L A= = =
(3) 40° (4) 60°

(3) 14 . #Y2s

CET-2022—C] 12 . ' g collegedunia:s
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From the below figyre the value of -
X'=
(B0 D020 D08 'x' deyg

—_—

1) 2021 em (0.8,
“ ¥ 0.aD.) (2) 2022 cm (3.5 .
3) 2220 ¢ 0.aD. . |
(3) cm (20.2.) (4) 2020 cm (0.5 C Or
‘-P
\‘ a W
.-IA 5

In the below figure ARST - A RBA then the value of x i g ©

800 &80 ©08 ARST ~ A RBA eons, x Deus DA ¢
/ 4 ,
q/

(1) 12 (2) 24 (3) 10 ;n/ls

RP and RQ are the two tangents to the circle with centre “O” and £ POQ =110° then
LPRO=____
"0’ Sosiorr do Syerd8 RP Hoam RO e Bodk $)5 8w
L PRO= "8

P 2

.
(1) 700 @90 e

SPACE FOR ROUGH WORK / D& 598 Seranosads doiw
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SECTION — B : PHYSICS (8% 330

y when the “'.f }

61 For a convex lens magnification of virtual image is possible onl
distance is
(1) equal to F
(3) less than F
$057°5°6 S8k 008 Jod Ersins® SHHL dodiP DRg BP0 &

(1) 250865088 588 drdin (2) sreigossin SoB D
(3) >aigos60 $oB sy (4) b=

(2) greater than F

(4) none of the above
<5580 Doddod )
Q@

62 FoE:al length of the eye lens changes with the help of
(1) Pupil (2) Aqueous humour

P (3) Ciliary muscle (4) Optical nerve
80636° K628 Taigodsin B SKotins SrthE0s.
(1) s (2) Y88 (850

(3) 20anbd osso (4) 8y =8

ric current and direction of electrons in a conductor are
- (2) Perpendicular to each other

(4) None of the above

63

. ve OF S o dodraw. 69
(2) 28 o888 oo
(4) 3D 59
/

. Refractive index of the lens
(4) None of the above

QP ERD.
(2) soos @E Y855 ey,
(4) 8 =%

'ROUGH WORK / 2& 98 Seranosess ses,
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g5 Ihe defect by which some
- . ; : eople ¢ : -
objects is called People can not see near objects clearly but can see distant

(1) Myopia (2) Cataract

(3) Presbyopia (4) Hypermetropiz
S8 BEST BBy B " : 4% pon
L Foo® OGO ak) XoHen B Srddh 5 drson 43) oD Srdded. & SEE >

mer @oérd).

1) 10 &y 2
(1) 1&g Sya (2) %088 Hgren (3) Sergsin (4) &g oy
.'6 N A person is advised to use 5D lens. What is its focal length 7
' (1) 50 cm (2) 5 em (3) 2 cm § }41/30 cm
A’ P st_gng 5D éé.:sva; TEO) WPNOSEHS. ood Tergodin Jod ?
(1) 50 =0.. (2) 5 0., (3) 2 2ok (4) 20 20..

6’7 In an eye, muscular diaphragm between aqueous humour and the lens is called
(1) Iris (2) Pupil _(3) Retina (4) Cornea
L T 5088, ABEE (S8 ELS I8 D¢y 40B SodSED S T8 Bev> .

(1) %o g (2) so>d (3) veder (4) s=0)oxr

-3

Angle of vision of a healthy adult human is
SBrisHodd Sy e
(1) 10° (/2)/ 60° (3) 90° (4) 40°

In series connection of resistors, if one of the resistors breaks down. then
(1) circuit is open and no current flows in the circuit
P‘-)\/zurrent increases in other resistors e
(3) current remains the same in other resistors
current decreases in other resistors a little
ey BeS6® SO DB & I HNBaOEIB, oD D&
(1) soabo Bhsed, Soanos® AbgE gt enidod 69
) DADS At res® ngdgErdrin Whrb&od
) DAdS Ao’ DebgdgTraran ©08 &0énod
) DAY A rest Agdygaririn o Sh&od

SPACE FOR ROUGH WORK / 2& 508 Seronouadd o
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70 A bulb is marked 60 W and 240 V. Find the resistance in the bulb.
a8 wen) 60 W 5801 240 V 0 $805856. e )&°D) GG E Do ?
(400 (2) 180Q (3) 960 (4) 602

71 e Usagc of fuse in a circuit prevents from
y’k’ (1)-Power cut (2) Overload (3) Short circuit (4) None of the above

&
T a8 500008 {58 810D sddrson.

(1) 2esogB % (2) 445 &6 (3) B wmpg8 (4) T =S

@ Ob_S.I,{UCIion to the motion of electrons in a conductor is called
(I)-Conductivity ~ 2) Resistance (3) Resistivity (4) None of the above
S‘P«L:'P;E;zbndis nbosvgése.n Bord8 £87 BALOS™Y)) VT WOLFD.

(1) s (2) 368 (3) dagaCeim - (4) TRare =

73 Which of the following i the equation for given circuit as per Kirchoff's loop law ?

88 5 erd Do [BseCEn By Hoaxed’ SEsmEy 96 2

=30

Ix12=1 (3) 31x12=0 (4) 31-12=0

g relation represents Ohm's law ?

QDB I AKp0s ?

© V'x-;- Blar=1 4) P=VI

)R ROUGH WORK / D 28 Seranoswds RSN

16 gcollegeduniag
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1 the cireuit given below, ir S !
W, 1l the equivalent resis
u “Sistance is i
g 15 10Q, find the value of
. OJRBD Boanos® v PS8R dend 10 Q ©oud, R dend g @i -

4€)
(R
1 12Q

% )
L)
8 Q2 ‘
(h 2) 16Q o 3B) 79 @) 30
SI unit of resistivity is
RN 28° 3w Ay S| (e
{ 1){ (2) Q-m (3) Q-m? @) Qm™
i

Multimeter can be used to measure
(1) current (2) voltage ' (3) resistance - (4) all of the above
2OEE D GHAFAON B Fod Hib Y. ;; ' )
(1) dedged (2) S84 — (3) dPesa (4) 25D oD
The size of the image formed by a convex mirror is always
(1) Enlarged (2) Diminished
(3)Double size of the object (4) None

L ol B8y QBB (HBDow HLPEH0 JP>

' i

& 2) DN
(1) %)0 BodHO S _(_,)_T'J__,),___
(3) &P o Beo) ~ (4) b=
T__{ .

dSurface curved outward is
© (2) Concave mirror

(4) None

2200083 TS $0en0d ?
(2) DHerseE S
(4) b o

The spherical mirror whose reflectin
(1), Convex mirror

) Plane mirror
5 Framse (56 Ho HoPREH SO HEW
(1) Sogrsd 80
(3) wwde By

_J i
SPACE FOR ROUGH WOEEI( /[ D& B8 Beron ol KR

Lo
o
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80 The type of muTor used in solar cooker Is : { &
il1) L oncave r:I L;)i‘l\i-‘.\ “ 85 “h
; Concave and convex (4) None j— et
DErso (2) Sozrsd i |
(3) persd Hdah Howrsd (4) 28 s § >
.‘f: (3)
81 The minimum distance of an object from the pole to obtain real image in case ofé

concave mirror "- Eg 86 lf

PemsE S8)mo Mawos® de PADown Dom GEeod, SHHI, GyEw Hod Jod X &rdoS b e

o8 ? % &

(1) F @) 2F (3) 0 4) F2 ﬁ?

£ (
82 What is the focal length of a plano-convex lens if ‘R’ is the radius of curvature andg:

‘n’ is the refractive index ? ; pi7 H
Shde Lours g Sesin Aosy Ys= arg#da’m ‘R’ 8ar é@am AHesH ‘N eawd, sra‘isoéd&;,é /S)
Jog ? :}

’ - 'f (1
(1) £=R (2)_f=.11 = R ~_n—1
2 n—1 ,(‘4) = R 5 88 W
83 Th ificati : ;
¢ magnification of a concave lens is alwa :
(1) equal to one : T ]
q (2) less than one greater than one (4) none of the above s
DTS S8 QG 6y dsydr ;
(1) ekl S ST : -89 |
"ﬁ".@ il Q)M _ ﬁﬁlﬁgﬁ 8 (3) e.5e3 508 Aips  (4) 23 =y _ :
% (
€ase of a concave lens ?
(2) Inverted and virtual j image 20 ]
(4) Inverted and real image (
_a-é.?é‘ D8 BB ? :
2 ” ;
(2) SoBothen Dbty DEeg HBDoH [
(4) SoBotren 2BL Mos 900281 |

18
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FARNaL L e .
2226102267 \

N

wiai ) 7H085 3

at 1s lens aker's [
Wha maker's lormuly 9

Hood Board K)Q"',bgdmm D-ﬁ)ej y

I |
{ll l}(‘———_ A I
(1) Ri ‘—-R‘?

! (n+1) ’ [ Rl R2
) T T{“‘"**--J '

1 Ry (4) '“=(n+l)(_.l._.____‘__

R] Rz

[ the focal length of
curvature 7

a spherical mj '
al mirror is 10 ¢m, what is the value of radius of

(:’} “:S cim {(2) 20 cm (3) 30 cm
AreseS S8 yeasn &uuéa_ el i
O8G0 10 0.0, wans, ys :
(1) 10 20.8. (2) 20 2o, (3) 302:;86.9&1) J(T) ?:)b
; oD, 5

I"a convex lens is placed i
© . . # dLCd ]n Walcr 13l £
: , 1t
(1) increases S focal length

(2) decreases 3
: d
058 S0880 WIS* Aol o ""‘%"swg ﬁl 0es not change (4) none of the above

(1) 0hd (2) 8o (3) &rss (4) »3
® Y
Which of the following is the formula for m

agnification in case of i irror *
Aieroseds &8s GHSH0HH e D ? spherical mirror ?

V =
h ) = @ ¥ W U

Every lens has focal points.

(08 SLEKRHH argbevodran.

(1) 2 Vﬁ 3) 6 4) 8

Parallel beam of light after passing through a convex lens pass through a point called
(1) Pole (2) Centre of curvature

(3) Focus (4) None of the above
Srodd 5708 ok H0arseE S8 Hoae (HorEods dhard D Dotk Hoar Y ?
(1) ¢ yam (2) Yo o
3) =» 4) 23 wP
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b
- g gf; s e ) ®
SECTION — C : CHEMISTRY (B aHD B> y
91 The orbital with more penetration power towards nucleus i3
Sol¢sgsn By &5 )6 PG dprisng SILAT a9y wt b i 7 B
“~ (1) 4d (2) 4f (3) 4p ) 45
e of the followig® ¢

92 The electronic configuration of an element is 2. 8. 6. Which on

element is chemically similar to the above element ” SPALE
| (3) Phosphorous (4) Chlorine

A1) Nitrogen (2) Oxygen
DoweS dergio 2. 8. 6 60N 0.8 fareso, (Bod allys D fretod sratdtorr FD G0EAT
(1) 3&°=5 (2) eBy=S (3) ;3»:;;)65 (4) ge2
93 4f elements are called as
(1) Transition elements (2) Alkaline earth metals
(3) Actinoids (4) Lanthanoids
4f sroseols D dore Sendrd ?
(1) 20868 wrosrer (2) 56 Doy88 S5
(3) o8 X (4) erogarands

A Bg 00

gir of atomic numbers indicates the s-block e¢lements ?
ﬂ-g.g'& Lrosrein rdRron ?

@3y 11. 12 W8

94

5 to 3" period and 14% group in Modern periodic table is
(3) Phosphorous (4) Sulphur
Dba 145 |Arss Bobibnsosd Hredin

1205°5 (3) >4)65 (4) 2038
it
ctronegative element among the following ?
(2) Carbon (3) Nitrogen # Fluorine
28 DS 88 Mo Lrosin I8 ?

(2) s%6)S (3) a&=5 (4) oS |
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n

O <5 C NaOH + b . 4
DH, . n this equation the values of A, B, C and D are

D CNaOH « DH, o8 sthssmtne® A, B, C moa0 D Desse
1. (=2 - .
. .i_ :i: (2) A=2, B=2, C=2, D=1
. (4) A=2, B=1, C=2, D=1

alt in the following.
> vt siiealont t"'n')‘(n‘:‘()&
() Nk (2y NaOH (3) HCI (4) HCN

pound formed when excess CO, is passed through lime water
) e er gt w8 COLD Lol8pd D6y er i

O ) (2) (_.‘a(l()3 (3) ca0O }4/) Ca(HCO3)2

Moo solution with ptl less than 7 is

(1) Sodim chloride solution (2) Sodium hydroxide solution
(1 Acetic acid solution (4) Slaked lime

pll ek 20 4&33'560 | $a930)

(1) dthano §D0b (rieio (2) @Fdovo 3ra@B)b |ovdewin

(1) AT asiy (G devioo (4) 88 dydo

¢

I cndothernmic reaction, heat is

(2) not changes (3) absorbed (4) all of the above

(1 relensed
arrirs .;‘;f';gﬂ“ &W

(1) dotserioin (2) trto) BOGE (3) (Rrodudd® (4) a0

lo joules at STP. Heat liberated

One mole of Propane (C3H') on combustion given ‘x'ki_ |
kilo joules 1s

by the combustion of 11.2 litres of Propane at STP in

o e (8 (C4Hy ) STPiG B0 Brstrydo ‘x’'86* ra;;ngoa. STP & 11.2 beg @65 ®
irn Bttt Doy B 8 @6y b
(1) x @ % @y 112 x ) 2x
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103 Which one of the following metal occurs in the native form ?
(B0 are3&®, (98)BE* Gimes orr eggmdly o < Na
(1) Au @) Ca @) Mg 5

104 The more reactive metal in the activity series is

: inum
(1) Potassium (2) Iron (3) Zinc (4) Platinu
SorgRed @IS 0ol SorgBed Ko o
(1) &rertaro (2) = (3) 208 () s

‘)

105 Which of the following process is used for the purification of crude melB;l ]
(1) Roasting (2) Poling (3) Calcination /(«4'7 Froth 4
Bod 36" S8 ascrnod 58 96 2

(1) =550 (2) 00k (3) #yddemo (4) 55 @8a%

106 Which of the following is a non metal 2
(8 8 wé'iro 6 2
4 Pb ) Sn (3) K (4) S

107 Idennﬁr an acldlc ﬂux among the following.
it gl (2) CaO (3) MgO (4) CaCO;

e following is

(3) Haematite (4) Camnalite

(3) wugs @) soy28

(2) Manufacture of borax

(2) &'o°E) dar-bes®
(4) 2ot

E FOR ROUGH WORK / D& 58 Beravosends Sestn
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i 13

114

115

Marimit number ol electrons present in un orbital of wtom 4
) QWG 0 are o aod DR (0 tomg

(1 & §o) 6 (3) 10 ) 2
Rases can pive 1ons in water,

e wosriEh aity ,,
(h M (2) OH (3) M40 o oM
NN g actd to water 18

() oxothermic reaction (2) endothermic reaction
(3) peutralisation (4) none of the above
hes8 Q_q;:.l‘!"‘;\.l g0

(1) ae»:_:.mds $6g (2) Aiirs ¥og

(3) eje,)‘i?_)!:‘-'f}mh» (4) 8D oy

Four quantum numbers of valence clectron of sodium

dano AEY DEHOD o)e)g'jn') Sy, Trentd B2 oo domgen
(1) 3.0.0, +1/2 2) 2, 1, 0, ~L32
() 3, 0, -1 % 1/2 4) 2, 0,40, =1/2

: i CuSOy is
((‘1(;10\1;;1;:: dnhydmus[&ﬁlﬁle (3) Green (4) Yellow
w8y CuSO, Bord ar
(1) Bendy (2) deo (3) llﬁ)?btﬁ‘) (4) oY
Bleaching Powder is formed from i |li Lot g
(1) Slaked lime + HCI & buick limé i
(3) Quick lime + HCI 2
0B DB &0 A
e a..j‘ 3 WHCl ! (2) 88 o+ Cl,
(1) 88 wdyo + i A e

(3) &a ¥)o+ HCI
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116 The total number of atomic orbitals in third shell of an atom
08 DORPES rdd $5S° dod @0 ere) Jomg

(1 1 (2) 3 3y 9 (4) 18

117 Which one of the following electromagnetic radiation has more frequency |
() Cosmic rays (2) X-rays (3) U.V. rays (4) Radio Wavess
800 AgEaB08 WSFOS® & wbE o SOA Gotnob ?

(1) =8 8seren  (2) X-86wren (3) U.V. 86een (4) BaaAr &

118 Order of energy of orbitals
@b ere 48 (Shdw
(1) 3s>3p>3d>4s (2) 3s<3p<3d<4s
/(3/).‘ 3s>3p>4s>3d ‘ (4) 3s<3p<4s<3d

119 The classification of elements which is based on atomic number is

(1) Dobereiner's law of Triads (2)/Ne\\'land's law of octaves
(3) Modern periodic table }40/ Mandeleeff's periodic table
dShre Hopg B WEREHAN roste iéédm 20 ?

(1) g (2) drgeroBy o Jonvddmn
(4) 20ddS enss vesg

ronic configuration violating Hund's rule 2

2008 0§98 I A6 ?

@) fry] fref ]
2s 2p

@) 1] T
2s 2p
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.__\.

Y 1

:
gcollegedumas
India’s largest Student Review Platform



- Y

OLYCET-2022—C | s . 128

SECTION = D : BIOLOGY (8%3°89i)

" l\ he mode of nutrition in Paramoecium is
Ineestion })-'l"‘/i'l;mrptinn (3) Parasitic (4) Saprophytic
phhanod” e ASorr e eéod.
(1) @080 ((frwo (2) &% (3) dordy diddo (4) prasHco
Cyternal tertilization is observed in
(1) Monkeys (2) Humans (3) Fish (4) All of the above

rirg S0B8G™O S° 208,

(1) Sdhen (2) drddHen (3) Sew (4) }_"’b;

I'he structural and functional unit of nervous system is

(1) Neuron (2) Nephron (3) Osteocytes (4) None of the above

T8 D0 Ay Jomyerd) 8 Hda (SaXrd, ¥ [Hreo

(1) =8 &0 (2) 38 3) sdarse (1) =Y

serves as a shock-absorbing medium and protects the brain against

shocks/jerks along with the meninges and cranium

(1) Lymph (2) Cerebrospinal fluid
(3¥ Blood | (4) None of the above
SFreodn, dozh o O DD @i’-grwe) 908 sPrBS 0.
(1) &% (2)? 2y, DoHo

(3) 8o (‘4)|l T =Y
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125 are fat soluble vitamins.

st 904 D@ oD ? l(,»
X () B&C (2) A&C (3) B&D ) A &D

126 Which part of the brain controls the emotions ?

(1) Cerebrum (2) Diencephalon

“~ (3) Mid brain (?{Ccrcbcllum

DoG AwE) D o oo Jvodipod ?

(1) »po (2) argd Ago
(3) Dog v (4) vy o (ROBYD)
127 Total amount of urine excreted per day by humans is about litres.
5 > Blerd DI Hexg r(Eed) RO .
D) 1.2- 1.4 3) 1.4 - 1.6 4) 1.6 - 1.8

(2) Glomerulus

(4) Renal tubule

(2) 68384 o8 wsyo

(4) 5y8% w08

'FOR ROUGH WORK / 04 08




129 Identify the correct photosynthetic equation.

\ - Light
(1) 6CO, +Hy0 —mrter? CH,0 +H,0 +60,

N CO ) Light KT
(2) g +etigll Chlorophyll ~ CH,0 +2H,0+ 0,

3) 6CO Light . .
(3) 2+ 6H0 —pemi CoHiz04 + 6H,0 + 60,

6CO Light .
“) 2 +12H,0 —asoim™  C6Hi206 + 6H,0 + 60,

§6m &g SOArH (BANE™D KBS BELE) $B0S08.

1) 6CO,+H i MR
(1) 2 P e asoss T CH,0 +H50 +60;

8
(2) €O +2H,0 —gcotac— CH,0+2H,0+0,

508 A
5°08 o
. 130 The latex of lant is the source of biodiesel.
" (1) Sapota / Chicle (3) Hevea (4) Jatropa
) 886y Hob a@Ardas © s Ty,
(1) e (2) D86 (3) rdoxe (4) &'

- 131 The secondary function of lungs to carry out excretion is

(1) Removal of CO, and Water (2) Elimination of Sebum
ﬂ%:ea formation ‘ (4) Excretion of excess salts

&20Ben edorr B MYS BBk DEH
(1) CO, @daxy WD OO Do)e (2) Rwo @y oD

(3) axrboxe dosrd (4) ©ps ebare XS
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osynthesis are

pholochcmmal phase of phot
and NADP
(3) AlP and NADPH (4) NADP an

8oty S0GrHBABE'D 508 drai sH6" D6 oDy 86 BB
(2) ADP &80 NADP

(4) NADP ®toxw NADPH

132 Assimilatory powers formed in the

(1) ADP oo ATP
(3) ATP @baxw NADPH

The organs which have different structure but perform similar functions are callg
(2) Analogous organs

(4) None of the above
©0erd.

133
(1) Homologous organs

(3) Vestigial organs
Do 008" VM 408, eBEEDD HID 00D DT OW
(2) (Bograring ebobT~en

(4) 3D =Y

(1) dorye dring edabaren
(3) osArsavTen

134 A cross between a round, green seeded pea-plant (RRyy) and a wrinkled yellow se

lant- (:I‘YY), the seeds produced in F, generation are
P;i and Yellow (2) Wrinkled and Green

W 5 1l (4) Round and Green

2 o ©evd WD (RRyy) dndbses Hoat 503
1860 ool dren do Ty o S HoB.

| (2) Swdser HBat wHvSy

(4) Hoesd HBaK) SESEN

_‘ hin closely related groups of organisms is re -..,j';

mtions (3) (1) and (2) (4) None of the
 Bodd dho ©eg o ofmres’ aod PoroD '
2) Dergen (3) (1) Soaxs 2 @ '*i“ﬁ*‘%
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i : JCATIGIN B DAININGG, 8 pineryrres -
1 ATE BOARD OF TrorNicAar B \.: Iﬂy

.oy TR | | 2
Fach human body cell contains o i >
1) 20 Pair . s, T2 ! ‘
‘ WIS (2) 23 Pairs (3) 22 Pairs (4) 24 Pairs

2N S0t 0D A "
st \‘.l v wdoy " Qrdfhuen (westdbhnen) dotran 7

\ M) pa
(1) 20 assen (2) 23 ween (3) 22 mden (4) 24 wden
n by eeneration, the genotypic ratio of monohybrid cross is

(1) 9:3:3:1 (27 3:1 (%) 1%l (4) 3:1:3:9

—_ protects the heart from shocks.
(1) Pericardial membranes (2) Pericardial fluid
(¥ Auricles (4) Ventricles

OB BRrETY HHod srar e ob.
(1) :Q}‘e)CSQJ.‘J‘g)CSm 6Si:}‘en (2) ﬁgdoﬁ‘éﬁm (&S50

(3) sBsew (4) es8BEen

Blood capillaries were discovered by in 1661.

(1) Marcello Malphigi (2) William Harvey
(3) Girolamo Fabrici (4) Rene lLaennec
1661 & 68 B PEoD TS,
(1) arBys® srO)a (2) d®aro &g

(4) B0 BS

(3) pelemr P

is a vital link between blood and tissues by which essential substances pass
from blood to cells and gxcretory products from cg_all_s to bllood.
Heart (3) Arteries.  (4) Veins

(1) Lymph 5
850 w08 FsOD E‘ibo{’.) Siofh 003G, Sreod By Somgrom 1¥00D, 506’8

ot B G5 S & 808 HErEd v°go ots ?

B6ydo erotd s°o°g
(1) %0 (2) thod (3) sowe ;4) ew
SPACE FOR ROUGH WORK / 8% 308 8aranosindd goi

:
@collegedumas
India’s largest Student Review Platform



I- - HALL TICKET & PO s =

i * food.
141 In trees, removal of prevents transportation of ::;,
(1) Phloem (2) Xylem (3) Xylem vessel

(4) None of the ahg

BYS” D FoRodsdpdds eHts S &)m‘boﬁaacﬁé:o& ? b call
(1) %8 Sevesr00 (2) =Y (3) oD T — y/}
B
142 controls the movement of food and air towards their rt.sp;;l“:;l:;““ages e
(1) Epiglottis (2) Pharynx (3) Nasal cavity (4) Tra ;
wHFoed) HBXH MO d &b drgred® oW ool BPod.
(1) aoargs (2) D (3) ¥ HHFSO (4) aPaXwrreo
' 148 1
143 Muscular tissue present at the floor of the chest cavity 18 } I
(1) Bronchi (2) Diaphragm (3) Trachea (4) Alveoli (
&8558 BrbD 2rtioS® dod HosSaSH FPE 0.
(1) =mgdreren (2) deress Hreo (3) ®goeess (4) srosofTEven
144 In the absence of oxygen, glucose is converted to ethanol in : :
(1) Plants (2) Animals (3) Yeast (4) Lactobacillus .
95‘335 ueigos-a ﬁoﬁ‘ 'Qrs‘i adarss m ' &° HrdHeod. 149
(1) wge | (2) =odipe (3) %3 (4) oSere
on, energy is stored in cell organelle.
. Mitochondria  (3) Nucleus (4) None of the above
48 & gerorfod® dogEah whE08.
2) p&soldartr (3) Sosso (4) 3 =P 5(

Ginget (2) urraya, Guava and Millingtonia
1 and Scilla None of the above

) (8 j_sé;)& zsdné)éﬁﬁ Aol Gorsrdnen

' (2) Sodotr, eri B HBOR &asr

(4) =Y
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147 The Nuids secreted f;
rom seminal vesicles, prostate gland and Cowper's gland collectively

Ci IIILd '\L""ndl I n W sperm » € CC
dS .
l‘ ma. th ‘\Llnln!ll phl.“\lnd dl('lng ”h E P 1 d” 1

(1) Plasma y
(2) Semen (3) Placenta (4) None of the above

D(E|rirsen a8\
i D8 B (&850, Bréhri (Hlobiraren, BB (0f (Fraroh 0 WIS T wokrd,
g oA H|E Sererd KO ©@otrd.

(1) >
i (2) B S (3) aron (4) 330 Y

LLF

148 The phrase Omni £ M o tiira
p nnis cellula e cellula, or cells arise from pre-existing cells was
proposed by

(1) Mendel (2) Virchow /(ZdJamarck (4) None of the above
e ©O8H M0HY) Ewreod ad b bHEron ()S Pengd @ eng®) & Leroerd)
PAFHoTH ?

(1) Dods (2) 2%y5 (3) erdrby (4) Y

149 Growth of a Plant in respopse to a light stimulus is known as
Adrotropism (3) Phototropism  (4) None of the above

(1) Geotropism

Emézren sc0H8 e Sreon &ao&ome&&) @otrd) ?

(1) thdergidso (2) D8 eRgHo (3) 508 a::o:ugpo' (4) =Y

150 Transfer of pollen grains from anther to stigma of the 'same flower is called

(1) Cross pollination (2) Self Pollmanon

i Anemophlly
(3) Hydrophily
soets, S0 wob Sl TR o g0 0¥y Bermd) e e
K B30 (2) wé) :uc'd aoa’:d&o
e (4B : 5 4) a-omwdlwt,h
(3)&'0::0'6::0&}0' W
—— ibhnma ol
% <pACE FOR ROUGE --WORK e _
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